
SPEEDMAN®

VARIABLE SPEED PUMP SET

P R O D U C T
D E S C R I P T I O N

Variable speed / constant pressure system
consisting of a Davey VM vertical
multistage pump with Speedman
controller, VSD unit, pressure transducer,
24 litre pressure tank, inlet and discharge
manifolds, isolating and non-return valves,
all mounted on a stainless steel base.

A P P L I C AT I O N S

Pumping of clean, non-aggressive
liquids, free of fibres in suspension,
suitable for applications such as:- 
• Agriculture & Turf Watering
• Commercial & Industrial Processes
• Pressure Boosting in Commercial

buildings
• Water Supply – Rural & Industrial
• Commercial – High Pressure Washing

& Water Treatment

O P E R AT I N G  L I M I T SF E AT U R E S  &  B E N E F I T S

• Provides constant pressure via
variable speed control for single
pumps up to 30kW.

• Simple dial adjustable set point to
allow the operator to adjust the set
point to suit individual
applications.

• Incorporates high & low pressure
shutdown protection with
adjustable delay timers.

• High & low pressure settings
automatically track set point
changes for ease of adjustment.

• Automatic sensing of “no flow”
condition via pressure boosting to
protect the pump.

• LED display shows pump
operation, status and fault
conditions.  Indicators include
power on, pump running, VSD
fault, high pressure and low
pressure faults and no flow testing.

• On-Off switch.

• Selectable manual control for
commissioning.

• Remote start input for control via
an irrigation controller, or external
sensor.

• Programmable output relays for
external communications of fault
conditions, lag pump or jockey
pump operation.

Capacities to 110m3/hr (1833lpm)

Pressure heads to 160m

Maximum suction
pressure Refer pg 2

Liquid temperature range 0o to +70oC

Power supply – single phase up to 2.2kW
Power supply – three phase up to 30kW

Pump Rotation Anti-clockwise
(top view)

VARIABLE SPEED
PUMP SET



TECHNICAL  SPEC I F ICAT IONS

M AT E R I A L S  O F  C O N S T R U C T I O N

PA R T M AT E R I A L

Pump base

Suction & discharge casing

Motor support lantern

Impellers

Stages (casing)

Outside sleeve

Pump shaft

Intermediate bearing

Mechanical seal

Orings (casing)

Plugs (drainage & priming)

Impeller neck rings

Cast iron

304 stainless steel

Cast iron

304 stainless steel

304 stainless steel

304 stainless steel

316L stainless steel

Tungsten carbide

Silicon carbide/carbon/EPDM

EPDM

316L stainless steel

Teflon

I D E N T I F I C AT I O N  O F  T H E  P U M P  S E T

NOTE: 304 stainless steel, (Z6 CN 18.9) and 316L
stainless steel (Z2 CND 17.12) are recommended
materials that are highly resistant to corrosion.  Suitable for
pumping clean, clear non-viscous liquids, containing no
fibres or solids.  Maximum sand/silica concentration 40
g/m3.

SMAN 32 - 2A/3 WM

Control Box
Blank = Stand mount
WM = Wall mount

Motor fitted
Blank = Single phase
/3 = Three phase

Impeller variation
(A =  manufacturer’s turndown)

Number of stages

Nominal capacity of VM Pump
at BEP in m3/hr

Speedman Pump Set

* Special version with 316L stainless steel & viton orings on request

Maximum
Model Inlet Pressure
VM3-8 6 bar
VM3-12 & above 10 bar
Up to VM5-10 10 bar
VM5-12 & above 15 bar
Up to VM10-6 6 bar
VM10-8 & above 10 bar
VM16-2 and VM16-3 6 bar
VM16-4 & above 10 bar
VM32-2A 3 bar
VM32-3 to VM32-4 4 bar
VM32-6 to VM32-10 10 bar
VM32-12 15 bar
VM65-2A 4 bar
VM65-2 to VM65-3 10 bar
VM65-4A and VM65-5 15 bar
Up to VM90-3A 10 bar
VM90-3 & above 15 bar

M A X I M U M  I N L E T  P R E S S U R E

Model Curve Number
Up to VM3-23 1
Up to VM5-16 1
Up to VM10-12 1
VM10-14 3
Up to VM16-8 1
VM16-11 3
Up to VM32-6 1
VM32-8 4
VM65 range 1
Up to VM90-4 1

The following figure shows the limitation of
working pressure and temperature of VM pumps.
Pumps should only be operated within the region
shown by the curves below.

M A X I M U M  W O R K I N G  P R E S S U R E

P(bar)
28
24
20
16
12
8
4
0

-40 0 40 80 120 T(oC)

1
2
3
4

A LT I T U D E  &  T E M P E R AT U R E
V S  L O S S  O F  H E A D

Altitude Loss of head
0m 0m
500m 0.60m
1000m 1.15m
1500m 1.70m
2000m 2.20m
2500m 2.65m
3000m 3.20m

Temperature Loss of head
20°C 0.20m
30°C 0.40m
40°C 0.70m
50°C 1.20m
60°C 1.90m
70°C 3.10m
80°C 4.70m
90°C 7.10m
100°C 10.30m

Guide only. Altitude and temperature losses are added.



TECHNICAL  SPEC I F ICAT IONS

NOTE: CURVE TOLERANCE IN CONFORMITY WITH ISO9906 APPENDIX A.

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

TOTAL HEAD (m)P(MPa)

Q(l/s)

Q(m3/hr)

0

10

20

30

40

50

60

70

80

90

100

110

120

130

140

150

160

170

180

0 1 2 3 4 5 6 7 8 9 10 11 12 13

0.0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0 2.2 2.4 2.6 2.8 3.0 3.2 3.4 3.6

VM10-4

VM10-6

VM10-8

VM10-10

VM10-12

VM10-14

VM10
50Hz

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

1.8

TOTAL HEAD (m)P(MPa)

0

10

20

30

40

50

60

70

80

90
100

110

120

130

140

150

160

170

180

190

Q(m3/hr) 0 2 4 6 8 10 12 14 16 18 20 22 24

Q(l/s) 0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 5.5 6.0 6.5

VM16
50Hz

VM16-2

VM16-3

VM16-4

VM16-6

VM16-8

VM16-11

V M 1 0 ,  2  P O L E  5 0 H z V M 1 6 ,  2  P O L E  5 0 H z

H Y D R A U L I C  P E R F O R M A N C E

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

TOTAL HEAD (m)P(MPa)

Q(l/s)

Q(m3/hr)

0

20

40

60

80

100

120

140

160

0.0 0.4 0.8 1.2 1.6 2.0 2.4 2.8 3.2 3.6 4.0 4.4

0.0 0.2 0.4 0.6 0.8 1.21.0

VM3
50Hz

VM3-8

VM3-12

VM3-15

VM3-19

VM3-23

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

1.8

TOTAL HEAD (m)P(MPa)

Q(l/s)

Q(m3/hr)

0

10

20

30

40
50

60

70
80

90

100
110

120

130

140

150

160

170

180

190

200

0.0 0.5 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 5.5 6.0 6.5 7.0 7.5 8.0 8.5

0.0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0 2.2

VM5-5

VM5-8

VM5-10

VM5-12

VM5-14

VM5-16

VM5
50Hz

V M 3 ,  2  P O L E  5 0 H z V M 5 ,  2  P O L E  5 0 H z



TECHNICAL  SPEC I F ICAT IONS

H Y D R A U L I C  P E R F O R M A N C E

TOTAL HEAD (m)P(MPa)

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

0

20

40

60

80

100

120

140

160

180

Q(m3/hr) 0 4 8 12 16 20 24 28 32 36 40 44

Q(l/s) 0 2 4 6 8 10 12

VM32
50Hz

VM32-2A

VM32-3

VM32-4

VM32-5

VM32-6

VM32-8

TOTAL HEAD (m)P(MPa)

0.0

0.4

0.8

1.2

1.6

0

20

40

60

80

100

120

140

160

Q(m3/hr) 0 10 20 30 40 50 60 70 80 90

Q(l/s) 0 5 10 15 20 25

VM65
50Hz

VM65-2A

VM65-2
VM65-3A

VM65-3

VM65-4A

VM65-5

V M 3 2 ,  2  P O L E  5 0 H z V M 6 5 ,  2  P O L E  5 0 H z

TOTAL HEAD (m)P(MPa)

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

0

10

20

30

40

50

60

70

80

90

100

110

120

130

140

150

Q(m3/hr) 0 10 20 30 40 50 60 70 80 90 100 110 120 130

Q(l/s) 0 5 10 15 20 25 30 35

VM90
50Hz

VM90-2

VM90-3A

VM90-3

VM90-4A

VM90-4

V M 9 0 ,  2  P O L E  5 0 H z

NOTE: CURVE TOLERANCE IN CONFORMITY WITH ISO9906 APPENDIX A.

P R E S S U R E  B O O S T I N G

The Speedman pumpset uses pressure boosting to determine when
there is flow in the system. Periodically, it will momentarily boost
the pressure and then watch for the pressure to decay back to the
set point. If there is no decay within a set time period the system
deems there is no-flow and shuts down.

OPTIONS

Boost frequency setting: 40, 80, 120 or 160 seconds

Boost pressure setting: 3%, 6%, 12% and 18%

Boost decay test time: 2, 10, 30 and 60 seconds



TECHNICAL  SPEC I F ICAT IONS

D I M E N S I O N S

Pump Model
Motor

kW
Height

mm
Length

mm
Width
mm

Pipe DN
mm

3-8 SMAN3-8 0.75 1153 860 690 32

3-12 SMAN3-12 1.1 1153 860 690 32

3-15 SMAN3-15 1.5 1153 860 690 32

3-19 SMAN3-19 2.2 1153 860 690 32

3-23 SMAN3-23 2.2 1153 876 690 32

5-5 SMAN5-5 1.1 1153 860 690 32

5-8 SMAN5-8 1.5 1153 860 690 32

5-10 SMAN5-10 2.2 1153 860 690 32

5-12 SMAN5-12 3.0 1153 876 690 32

5-14 SMAN5-14 3.0 1153 876 690 32

5-16 SMAN5-16 3.0 1153 876 690 32

10-4 SMAN10-4 1.5 1153 860 720 40

10-6 SMAN10-6 2.2 1153 876 720 40

10-8 SMAN10-8 3.0 1153 876 720 40

10-10 SMAN10-10 4.0 1153 876 720 40

10-12 SMAN10-12 5.5 1233 876 720 40

10-14 SMAN10-14 5.5 1233 876 720 40

16-2 SMAN16-2 2.2 1170 875 735 50

16-3 SMAN16-3 3.0 1170 875 735 50

16-4 SMAN16-4 4.0 1170 875 735 50

16-6 SMAN16-6 5.5 1170 875 735 50

16-8 SMAN16-8 7.5 1200 875 735 50

16-11 SMAN16-11 11.0 1425 982 735 50

32-2A SMAN32-2A 3.0 1170 875 760 65

32-3 SMAN32-3 5.5 1170 875 760 65

32-4 SMAN32-4 7.5 1215 985 760 65

32-5 SMAN32-5 11.0 1450 985 760 65

32-6 SMAN32-6 11.0 1520 985 760 65

32-8 SMAN32-8 15.0 1660 985 760 65

65-2A SMAN65-2A 7.5 1145 938 870 100 (Table E)

65-2 SMAN65-2 11.0 1289 1045 870 100 (Table E)

65-3A SMAN65-3A 15.0 1371 1045 870 100 (Table E)

65-3 SMAN65-3 18.5 1431 1045 870 100 (Table E)

65-4A SMAN65-4A 22.0 1515 1045 870 100 (Table E)

65-5 SMAN65-5 30.0 1706 1045 870 100 (Table E)

90-2 SMAN90-2 15.0 1308 1045 870 100 (Table E)

90-3A SMAN90-3A 18.5 1460 1045 870 100 (Table E)

90-3 SMAN90-3 22.0 1500 1045 870 100 (Table E)

90-4A SMAN90-4A 30.0 1662 1045 870 100 (Table E)

90-4 SMAN90-4 30.0 1662 1045 870 100 (Table E)



TECHNICAL  SPEC I F ICAT IONS

V M 3 ,  5 ,  1 0 ,  1 6  a n d  3 2

800

Ø30

VM3,5 = Ø32
VM10 = Ø40
VM16 = Ø50
VM32 = Ø65

VM3,5,10 = 460
VM16,32 = 430

VM3,5,10 = 510
VM16,32 = 480

VM3,5 = 675
VM10 = 740

VM16,32 = 775

VM3,5 = 128
VM10 = 133
VM16 = 160
VM32 = 175

V
M

3,
5,

10
 =

 1
15

3
V

M
16

,3
2 

=
 1

17
0

300 300

V M 6 5  a n d  V M 9 0

Specific dimensions for each model available on request

250

900

350

11
45

350

870

530

580

100



TECHNICAL  SPEC I F ICAT IONS

M O T O R  T E C H N I C A L  S P E C I F I C AT I O N S

*Special motor bearings fitted for thrust management.

Motor
1 Phase

Frame IP Rating
FLC

240 V
Start/LRC

Ratio
RPM Eff %

Bearings

Drive End Non-D/End

0.75 80 V18 IP55 4.38 5.83 2815 72 6204-ZZ 6204-ZZ

1.1 80 V18 IP55 6.38 5.65 2830 75 6204-ZZ 6204-ZZ

1.5 90 V18 IP55 8.08 5.57 2850 76 6205-ZZ 6205-ZZ

2.2 90 V18 IP55 12.0 4.59 2830 77 6205-ZZ 6205-ZZ

Motor
3 Phase

Frame IP Rating
FLC

415 V
Start/LRC

Ratio
RPM Eff %

Bearings

Drive End Non-D/End

0.75 80 V18 IP55 1.6 5.5 2800 89.0 6204-ZZ 6204-ZZ

1.1 80 V18 IP55 2.2 6.2 2828 82.4 6204-ZZ 6204-ZZ

1.5 90 V18 IP55 3.1 5.3 2800 78.0 6205-ZZC3 6205-ZZC3

2.2 90 V18 IP55 4.2 6.7 2800 85.0 6205-ZZC3 6205-ZZC3

3.0 100 V18 IP55 5.7 6.8 2853 86.2 6205-ZZC3 6205-ZZC3

4.0 112 V18* IP55 7.3 6.7 2902 86.8 6306-S 6306-S

5.5 132 V1* IP55 9.8 7.4 2916 89.9 7308B 6308ZZC3

7.5 132 V1* IP55 13.3 7.4 2892 87.0 7308B 6308ZZC3

11.0 160 V1* IP55 19.4 7.9 2925 88.3 7309B 6309ZZC3

15.0 160 V1* IP55 25.5 8.4 2931 89.3 7309B 6309ZZC3

18.5 160 V1* IP55 31.3 8.3 2938 91.4 7309B 6309ZZC3

22.0 180 V1* IP55 36.8 7.7 2951 90.4 6311 7311

32.0 200 V1* IP55 49.4 7.9 2950 91.4 6312 7312



DPM251-1/5K/0811/IPM supersedes DPM251a/0311/WEB & DPM251/5K/1208/IPM

Davey Water Products Pty Ltd
Member of the GUD Group
ABN 18 066 327 517

AUSTRALIA
Head Office and Manufacturing
6 Lakeview Drive,
Scoresby, Australia 3179
Ph: +61 3 9730 9222
Fax: +61 3 9753 4100
Website: davey.com.au

Customer Service Centre
Ph: 1300 369 100
Fax: 1300 369 119
E-mail: sales@davey.com.au

NEW ZEALAND
7 Rockridge Avenue,
Penrose, Auckland 1061
Ph: +64 9 570 9135
Fax: +64 9 527 7654
E-mail: sales@daveynz.co.nz
Website: daveynz.co.nz

Customer Service Centre
Ph: 0800 654 333

REST OF WORLD
6 Lakeview Drive,
Scoresby, Australia 3179
Ph: +61 3 9730 9121
Fax: +61 3 9753 4248
E-mail: export@davey.com.au
Website: davey.com.au

This literature is not a complete guide to product usage.  Further information is available from your Davey dealer, Davey Customer Service Centre and from
the relevant product Installation and Operating Instructions.  This data sheet must be read in conjunction with the relevant product Installation
and Operating Instructions and all applicable statutory requirements.  Product specifications may change without notice.
® Davey is a registered trademark of Davey Water Products Pty Ltd.  © Davey Water Products Pty Ltd 2011.

Environment
ISO 14001

H
/O

 &
 M

F
G

 S
C

O
R

E
S

B
Y

Quality
ISO 9001

H
/O

 &
 M

F
G

 S
C

O
R

E
S

B
Y



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


